(falu)
g E Beraucnuts IMPOUCHTHI JCCATUYHBIX 3HAKOB

WUms: Jata: ___ Ouenka:___
5,76 x 40% = 9,35 x40% =
4,33 x 80% = 2,36 x 50% =
3,15 x20% = 4,07 x 50% =
2,01 x80% = 9,06 x70% =
5,28 x 80% = 6,03 x 80% =
0,73 x30% = 3,99 x40% =
0,48 x 50% = 8,61 x70% =
8,57 x 10% = 0,48 x 20% =
4,68 x20% = 5,19 x 80% =
5,13 x 80% = 7,24 x 20% =
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Ba.g B

Beruncnuts MMPOUCHTHI ACCATUYHBIX 3HAKOB

Nwms:

5,76 x40% = 2.304

4,33 x 80% = 3.464

3,15 x20% = 0.63

2,01 x80% = 1.608

5,28 x 80% = 4.224

0,73 x30% = 0.219

0,48 x 50% = 0.24

8,57 x 10% = 0.857

4,68 x 20% = 0.936

5,13 x80% = 4.104

[ara:

9,35 x40% = 3.74

2,36 x50% = 1.18

4,07 x 50% = 2.035

9,06 x 70% = 6.342

6, 03 x 80% = 4.824

3,99 x40% = 1.596

8,61 x70% = 6.027

0,48 x20% = 0.096

5,19 x 80% = 4.152

7,24 x20% = 1.448
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Orenka:
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